PRECALCULUS 1 (ALGEBRA) - TEST 1
Fall 2019

NAME M EY STUDENT NUMBER 26

SHOW ALL WORK!!! Be clear and convince me that you understand what you are doing. Use
equal signs when quantities are equal (and do not use them when things are not equal). Put your
final answer in the box, when provided. Each numbered problem is worth 10 points. This test is
two-sided and there are 10 questions. You can earn 1 bonus point per problem by clearly writing
your answer using complete sentences! No calculators, put away your cell phone and smart

watch, and set the computer monitor face-down on the CPU!

1 Graph the points P, = (—3,2) and P, = (5,4). Find the distance between the two points.
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2. Find the midpoint of the line segment joining points P; = (2, —3) and P» = (4,2).
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3. Find the intercepts of the graph of the equation 922 + 4y = 36.
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4. Test the equation y = :
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for symmetry with reépect to the y-axis, and the origin.
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5. Find the slope and the y-intercept of the line y = —3x + 4 and graph the line.
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6. Find the equation of the line perpendicular to line y = %x + 4 such that the desired line contains

the point (—3,0). Express your answer in slope-intercept form.
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7. Find the center and radius of the circle given by the equation 2(z — 3)% + 2y = 8.
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8. Determine whether the equation 222 + 3y? = 1 determines y as a function of z. Explain.
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9. Find the domain of the function G(z) = f +4
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10. Consider the function f(z) =

domain of f7?
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(a) YES
(b) R<(-00,00)




